2. The resting pulse rates were recorded for 16 boys in gym class

1. The students in one social studies class were asked how many before they exercised. The line plot here shows the results

brothers and sisters (siblings) they each have. The dot plot here shows

the results.
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a. What is the range of the pulse rates?

a. How many of the students have six siblings? b. How many boys had a pulse rate over 812

b. How many of the students have no siblings?

c. How many boys had a pulse rate of 837
¢. How many of the students have three or more siblings?

4. John recorded the number of baseball cards collected by his friends, on a histogram. How many people
were surveyed?

Number of Cards Collected 3. How many directors made 3 - 4 movies?
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a. How many of the students have six siblings? e
b. How many of the students have no siblings? Te.

c. How many of the students have three or more siblings? £l 2,



2. The resting pulse rates were recorded for 16 boys in gym class
before they exercised. The line plot here shows the results.
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a. What is the range of the pulse rates? Kéngc = MO - un
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b. How many boys had a pulse rate over 81?

Nine
c. How many boys had a pulse rate of 83?

Yove

3. How many directors made 3 - 4 movies?
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4. John recorded the number of baseball cards collected by his friends, on a histogram. How many people
were surveyed?
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HOMEWORK

uzp Name: Period:

1. Forwhich set of data weuld it be more appropriate to use a dot plot? Explain
your answer in complete sentences,

You have been given 2 sets of data below, The first set of data shows the
o T d set of data shows th

all current Mial

players.

temperature in Miami over the last 10 days.

Miami Dolphins” Welght Miami Delphins’ Welght Continued
2. For which set of data would it be more approp touse a
Mame gt S 5 Explain your answer in complete sentences.
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Taylor, Jamar =0 [ Satele, Samsan 50
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Thomas, Michael = e e
Ly, Lt = [ Paruncey, Mikn ) 3. Createadot plotand a histogram based on your answers to #1 and M2,
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Baseball Quiz.

How many players are less than 170 pounds?

Five games had an attendance of 35’\‘\ to "'0'1 fans.

How many games had 30,000 — 40,000 fans attend?
How skinny could the fattest player actually be?
220

What is the interval size for the weight graph?
10 -
What range of weight is the most common? [Sinseas

20-210

How fat could the fattest player actually be?

230

Copy the questions... 3 min

k zg

Histogram for Weight of 1970s Los Angeles Angels Baseball Team
Game Attendance Frequency
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Unit 2: Data

* How can | take a data set of many values and represent its essence with just one
number?
* How can | summarize a data set of many values using statistics?

* How are the five number summaries similar/different?

Day 2/7: Measures of Center
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These are Abby’s science test scores.

Whatis the MEAN?
How do we find it?

The MEAN is the AVERAGE of the data set.

The mean is found by

1. Adding all the values in the data set

2. Then dividing the sum by the number
of values.



Lets find Abby’s MEAN Add all

science test score? the values.

»
Divide the sum

by the number

of values. 63

783 =9 = &H >

8

Themeanisg7 ~ * 0L

What is the MEDIAN?
How do we find it?

The MEDIAN is the number that is in the

MIDDLE of a set of data

1. Arrange the numbers in the
from least to greatest.

set in order

2. Then find the number that is in the middle.



Arrange values from
least to greatest.

e e

Find the number that is in the middle.

The median is 88.

Half the numbers are Half the numbers are

ess than the median.

greater than the median.

Sounds like
MEDIUM
Think middle when you hear median.




How do we

find

the MEDIAN
when two numbers are in the middle?

1. Add the two numbers.

2. Then divide by 2.

Arrange wvalues

from

least to greatest.

63 @ 63 B340 G709

There are two numbers

88 +95 = 183

in the middle.
Add the 2 numbers.

Divide by 2.

183 |+ 2

The median is
91.5




Whatis the MODE?
How do we find it?

The MODE is the piece of data that occurs most
frequentlyin the data set.

A set of data can have:

e One mode
e More than one mode
e No mode

Arranging values from least to greatest
makes it easier to find the mode,

633 €26 6303 o N07)100

Find the number that appears more or most frequently.

The value 97 appears twice.
All other numbers appear just once.

97 is the MODE



MODE

A Hint for remembering the MODE...

The first two letters give you a hint... MOde
Most Often

MODE
MOST OFTEN

Which set of data has ONE MODE?

A 9, 11, 16, 6, 7, 17, 18

B 18, 7, 10, 7, 18

@ 9, 11, 16, 8, 16

Myde = I<



Which set of data has NO MODE?

@ 9, 11, 16, 6, 7, 17, 18

Nvde = Noue

B 18, 75 10! 7! 18

C 13, 12, 12, 11, 12
Which set of data has
MORE THAN ONE MODE?
A 9, 11, 16, 8, 16
B 9, 11, 16, 6, 7, 17, 18

</ 18, 2, 10, 7, 18

W\{r_"c’: '9 wd_,?



What is the RANGE?
How do we find it?

The RANGE is the difference between the
lowest and highest values.

largest number
~— Smallest number

RANGE

Arranging values from least to greatest
makes it easier to find the RANGE,

bl esaoe 9]

Subtract the lowest value from the highest.

100 34 is the RANGE
'@ or spread

37 of this set of data




What is the RANGE of this set of data?

48 71 ‘g4 86 8897 (99

99
48
o1

What is the RANGE of this set of data?

15 17 33 46 48 67 85

85
-15
70




What is the RANGE of this set of data?

>
& 267
<t 119
401
227 ) 483

What is the RANGE of this set of data?

119/227)(267)329)357)(401)(483

483
-119

364




This one requires more
@M@Gﬂ — work than the others.

@Median s |Right in the MIDDLE.

~ A
This one is the easiest
MOdC ' to find— Just LOOK.

m— This one is just how
< — D Range |wide or stretched your

data is.

@Q Find the.... ¢ = = Drange

@Mean @MEdIGI’I Mode

9,10, 10, 13, 13




@e@ Q+lotlo+13+13= 55
— s ¢t

M'Dc‘,é = |o\ ‘3

= ||= mean

Ruwge.= |3 -9=¢

Medion = (O

.

e -
@e@Q Find the.... €= = DRrange

@Mean @Median Mode

8,8,9,10,10,12, 12,13, 17
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Q,* 5’+8+Q+I0rlo+lz+|a+l's4|?- G9q

Méon = — = q

9

mode = 3,10, 12
(Vldc!;aw: [6

Range= 1292=9

(o
@Q *Find the.... ¢ = = DRange

@Mean @Medmn Mode

13,82, 79, 54, 60, 438
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Mede = None

‘Kawse.: S2-13= 6%

o)

((\Q F|nd the... (ﬁl—;:D Range

@Mean @Medlan Mode

69, 71, 31, 48, 31




<
&
.‘@‘
<
2l 43¥H3 IR 2504
mean = — S &
w\téiov\: Lfg
Moéﬁ"’: 2
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@Q “Find the... . = = Drange

@Mean @Medlan Mode
40, 48, 69, 69, 29
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